

Contract ID: 2026.04 Contract Type: Contract

Bids Received For Contract

Cleaning And Painting Steel Structures -

Beech Ridge Road Underpass Bridge - Mile 4.8 Mountain Road Underpass Bridge - Mile 10.6 Berwick Road Underpass Bridge - Mile 13.8 Fletcher Street Underpass Bridge - Mile 25.3 10/09/2025 1:00:00 PM

Company Name	Total Bid Amount
Panther Industrial Painting, LLC - Mishawaka, IN	\$2,456,121.50
Modern Protective Coatings, Inc Hudson, NH	\$2,590,100.00
Saffo Contractors, Inc Wilmington, NC	\$2,699,777.00
Omega Coatings & Construction, LLC - Palm Harbor, FL	\$3,638,400.00
Amstar of Western NY Inc - Cheektowaga, NY	\$4,199,000.00
Monoko, LLC Tarpon Springs, FL	\$4,344,500.00

Page 1 of 13 Print Date: 10/9/2025



Contract ID: 2026.04 Contract Type: Contract

Bids Received For Contract

Cleaning And Painting Steel Structures -

Beech Ridge Road Underpass Bridge - Mile 4.8 Mountain Road Underpass Bridge - Mile 10.6 Berwick Road Underpass Bridge - Mile 13.8 Fletcher Street Underpass Bridge - Mile 25.3 10/09/2025 1:00:00 PM

Panther Industrial Painting, LLC Mishawaka, IN

Item No.	Item Description	UOM	Quantity	Unit Price	Item Bid Amount
506.141	Field Painting of ExistingStructural Steel – Beech Ridge Road Underpass Bridge	Lump	1.00	235409.00	\$235,409.00
506.142	Field Painting of ExistingStructural Steel – Mountain Road Underpass Bridge	Lump	1.00	115267.50	\$115,267.50
506.143	Field Painting of ExistingStructural Steel – Berwick Road Underpass Bridge	Lump	1.00	129001.50	\$129,001.50
506.144	Field Painting of ExistingStructural Steel – Fletcher Street Underpass Bridge	Lump	1.00	258493.50	\$258,493.50
506.171	Surface Preparation of Existing Structural Steel – Beech Ridge Road Underpass Bridge	Lump	1.00	283500.00	\$283,500.00
506.172	Surface Preparation of Existing Structural Steel - Mountain Road Underpass Bridge	Lump	1.00	176250.00	\$176,250.00
506.173	Surface Preparation of Existing Structural Steel - Berwick Road Underpass Bridge	Lump	1.00	197250.00	\$197,250.00
506.174	Surface Preparation of Existing Structural Steel – Fletcher Street Underpass Bridge	Lump	1.00	395250.00	\$395,250.00
506.181	Containment System and Pollution Control Measures – Beech Ridge Road Underpass Bridge	Lump	1.00	50000.00	\$50,000.00
506.182	Containment System and Pollution Control Measures – Mountain Road Underpass Bridge	Lump	1.00	30000.00	\$30,000.00
506.183	Containment System and Pollution Control Measures - Berwick Road Underpass Bridge	Lump	1.00	30000.00	\$30,000.00
506.184	Containment System andPollution Control Measures – Fletcher Street Underpass Bridge	LumpS	1.00	50000.00	\$50,000.00
506.191	Disposal of Special Waste orHazardous Waste – Beech Ridge Road Underpass Bridge	LumpS	1.00	5000.00	\$5,000.00
506.192	Disposal of Special Waste orHazardous Waste - Mountain Road Underpass Bridge	LumpS	1.00	5000.00	\$5,000.00
506.193	Disposal of Special Waste orHazardous Waste - Berwick Road Underpass Bridge	LumpS	1.00	5000.00	\$5,000.00
506.194	Disposal of Special Waste orHazardous Waste – Fletcher Street Underpass Bridge	LumpS	1.00	5000.00	\$5,000.00
526.306	Temporary Concrete Barrier, Type I - Supplied by Authority (500 LF)	LumpS	1.00	50000.00	\$50,000.00
527.342	Work Zone Crash Cushion -TL-2	Unit	8.00	2000.00	\$16,000.00
619.1202	Temporary Mulch	Lump	1.00	100.00	\$100.00
627.73	Temporary 6 Inch Pavement Marking Tape	Linea	4800.00	1.00	\$4,800.00

Page 2 of 13 Print Date: 10/9/2025



Contract ID: 2026.04 Contract Type: Contract

Bids Received For Contract

Cleaning And Painting Steel Structures -

Beech Ridge Road Underpass Bridge - Mile 4.8 Mountain Road Underpass Bridge - Mile 10.6 Berwick Road Underpass Bridge - Mile 13.8 Fletcher Street Underpass Bridge - Mile 25.3 10/09/2025 1:00:00 PM

Item No.	Item Description	иом	Quantity	Unit Price	Item Bid Amount
629.05	Hand Labor, Straight Time	Hour	40.00	70.00	\$2,800.00
631.35	Foreman	Hour	20.00	100.00	\$2,000.00
652.3611	Maintenance of Traffic Control Devices – Beech Ridge Road Underpass Bridge	Lump	1.00	50000.00	\$50,000.00
652.3612	Maintenance of Traffic Control Devices - Mountain Road Underpass Bridge	Lump	1.00	50000.00	\$50,000.00
652.3613	Maintenance of Traffic Control Devices - Berwick Road Underpass Bridge	Lump	1.00	50000.00	\$50,000.00
652.3614	Maintenance of Traffic Control Devices – Fletcher Street Underpass Bridge	Lump	1.00	50000.00	\$50,000.00
652.41	Portable Changeable Message Sign	Each	2.00	10000.00	\$20,000.00
659.1	Mobilization	Lump	1.00	190000.00	\$190,000.00
Total Bid					\$2,456,121.50

Page 3 of 13 Print Date: 10/9/2025



Contract ID: 2026.04 Contract Type: Contract

Bids Received For Contract

Cleaning And Painting Steel Structures -

Beech Ridge Road Underpass Bridge - Mile 4.8 Mountain Road Underpass Bridge - Mile 10.6 Berwick Road Underpass Bridge - Mile 13.8 Fletcher Street Underpass Bridge - Mile 25.3 10/09/2025 1:00:00 PM

Modern Protective Coatings, Inc. Hudson, NH

Item No.	Item Description	UOM	Quantity	Unit Price	Item Bid Amount
506.141	Field Painting of ExistingStructural Steel – Beech Ridge Road Underpass Bridge	Lump	1.00	170000.00	\$170,000.00
506.142	Field Painting of ExistingStructural Steel – Mountain Road Underpass Bridge	Lump	1.00	100000.00	\$100,000.00
506.143	Field Painting of ExistingStructural Steel – Berwick Road Underpass Bridge	Lump	1.00	110000.00	\$110,000.00
506.144	Field Painting of ExistingStructural Steel – Fletcher Street Underpass Bridge	Lump	1.00	200000.00	\$200,000.00
506.171	Surface Preparation of Existing Structural Steel – Beech Ridge Road Underpass Bridge	Lump	1.00	280000.00	\$280,000.00
506.172	Surface Preparation of Existing Structural Steel - Mountain Road Underpass Bridge	Lump	1.00	170000.00	\$170,000.00
506.173	Surface Preparation of Existing Structural Steel - Berwick Road Underpass Bridge	Lump	1.00	180000.00	\$180,000.00
506.174	Surface Preparation of Existing Structural Steel – Fletcher Street Underpass Bridge	Lump	1.00	360000.00	\$360,000.00
506.181	Containment System and Pollution Control Measures – Beech Ridge Road Underpass Bridge	Lump	1.00	160000.00	\$160,000.00
506.182	Containment System and Pollution Control Measures – Mountain Road Underpass Bridge	Lump	1.00	120000.00	\$120,000.00
506.183	Containment System and Pollution Control Measures - Berwick Road Underpass Bridge	Lump	1.00	120000.00	\$120,000.00
506.184	Containment System andPollution Control Measures – Fletcher Street Underpass Bridge	LumpS	1.00	200000.00	\$200,000.00
506.191	Disposal of Special Waste orHazardous Waste – Beech Ridge Road Underpass Bridge	LumpS	1.00	8000.00	\$8,000.00
506.192	Disposal of Special Waste orHazardous Waste - Mountain Road Underpass Bridge	LumpS	1.00	5000.00	\$5,000.00
506.193	Disposal of Special Waste orHazardous Waste - Berwick Road Underpass Bridge	LumpS	1.00	5000.00	\$5,000.00
506.194	Disposal of Special Waste orHazardous Waste – Fletcher Street Underpass Bridge	LumpS	1.00	8000.00	\$8,000.00
526.306	Temporary Concrete Barrier, Type I - Supplied by Authority (500 LF)	LumpS	1.00	40000.00	\$40,000.00
527.342	Work Zone Crash Cushion -TL-2	Unit	8.00	3000.00	\$24,000.00
619.1202	Temporary Mulch	Lump	1.00	4000.00	\$4,000.00
627.73	Temporary 6 Inch Pavement Marking Tape	Linea	4800.00	2.50	\$12,000.00

Page 4 of 13 Print Date: 10/9/2025



Contract ID: 2026.04 Contract Type: Contract

Bids Received For Contract

Cleaning And Painting Steel Structures -

Beech Ridge Road Underpass Bridge - Mile 4.8 Mountain Road Underpass Bridge - Mile 10.6 Berwick Road Underpass Bridge - Mile 13.8 Fletcher Street Underpass Bridge - Mile 25.3 10/09/2025 1:00:00 PM

Item No.	Item Description	UOM	Quantity	Unit Price	Item Bid Amount
629.05	Hand Labor, Straight Time	Hour	40.00	65.00	\$2,600.00
631.35	Foreman	Hour	20.00	75.00	\$1,500.00
652.3611	Maintenance of Traffic Control Devices – Beech Ridge Road Underpass Bridge	Lump	1.00	60000.00	\$60,000.00
652.3612	Maintenance of Traffic Control Devices - Mountain Road Underpass Bridge	Lump	1.00	60000.00	\$60,000.00
652.3613	Maintenance of Traffic Control Devices - Berwick Road Underpass Bridge	Lump	1.00	60000.00	\$60,000.00
652.3614	Maintenance of Traffic Control Devices – Fletcher Street Underpass Bridge	Lump	1.00	50000.00	\$50,000.00
652.41	Portable Changeable Message Sign	Each	2.00	5000.00	\$10,000.00
659.1	Mobilization	Lump	1.00	70000.00	\$70,000.00
Total Bid					\$2,590,100.00

Page 5 of 13 Print Date: 10/9/2025



Contract ID: 2026.04 Contract Type: Contract

Bids Received For Contract

Cleaning And Painting Steel Structures -

Beech Ridge Road Underpass Bridge - Mile 4.8 Mountain Road Underpass Bridge - Mile 10.6 Berwick Road Underpass Bridge - Mile 13.8 Fletcher Street Underpass Bridge - Mile 25.3 10/09/2025 1:00:00 PM

Saffo Contractors, Inc. Wilmington, NC

Item No.	Item Description	UOM	Quantity	Unit Price	Item Bid Amount
506.141	Field Painting of ExistingStructural Steel – Beech Ridge Road Underpass Bridge	Lump	1.00	131468.00	\$131,468.00
506.142	Field Painting of ExistingStructural Steel – Mountain Road Underpass Bridge	Lump	1.00	81731.00	\$81,731.00
506.143	Field Painting of ExistingStructural Steel – Berwick Road Underpass Bridge	Lump	1.00	91469.00	\$91,469.00
506.144	Field Painting of ExistingStructural Steel – Fletcher Street Underpass Bridge	Lump	1.00	183286.00	\$183,286.00
506.171	Surface Preparation of Existing Structural Steel – Beech Ridge Road Underpass Bridge	Lump	1.00	262930.00	\$262,930.00
506.172	Surface Preparation of Existing Structural Steel - Mountain Road Underpass Bridge	Lump	1.00	163462.00	\$163,462.00
506.173	Surface Preparation of Existing Structural Steel - Berwick Road Underpass Bridge	Lump	1.00	182938.00	\$182,938.00
506.174	Surface Preparation of Existing Structural Steel – Fletcher Street Underpass Bridge	Lump	1.00	366572.00	\$366,572.00
506.181	Containment System andPollution Control Measures – Beech Ridge Road Underpass Bridge	Lump	1.00	262930.00	\$262,930.00
506.182	Containment System andPollution Control Measures – Mountain Road Underpass Bridge	Lump	1.00	163462.00	\$163,462.00
506.183	Containment System andPollution Control Measures - Berwick Road Underpass Bridge	Lump	1.00	182938.00	\$182,938.00
506.184	Containment System andPollution Control Measures – Fletcher Street Underpass Bridge	LumpS	1.00	366572.00	\$366,572.00
506.191	Disposal of Special Waste orHazardous Waste – Beech Ridge Road Underpass Bridge	LumpS	1.00	5000.00	\$5,000.00
506.192	Disposal of Special Waste orHazardous Waste - Mountain Road Underpass Bridge	LumpS	1.00	5000.00	\$5,000.00
506.193	Disposal of Special Waste orHazardous Waste - Berwick Road Underpass Bridge	LumpS	1.00	5000.00	\$5,000.00
506.194	Disposal of Special Waste orHazardous Waste – Fletcher Street Underpass Bridge	LumpS	1.00	5000.00	\$5,000.00
526.306	Temporary Concrete Barrier, Type I - Supplied by Authority (500 LF)	LumpS	1.00	50.00	\$50.00
527.342	Work Zone Crash Cushion -TL-2	Unit	8.00	50.00	\$400.00
619.1202	Temporary Mulch	Lump	1.00	100.00	\$100.00
627.73	Temporary 6 Inch Pavement Marking Tape	Linea	4800.00	0.10	\$480.00

Page 6 of 13 Print Date: 10/9/2025



Contract ID: 2026.04 Contract Type: Contract

Bids Received For Contract

Cleaning And Painting Steel Structures -

Beech Ridge Road Underpass Bridge - Mile 4.8 Mountain Road Underpass Bridge - Mile 10.6 Berwick Road Underpass Bridge - Mile 13.8 Fletcher Street Underpass Bridge - Mile 25.3 10/09/2025 1:00:00 PM

Item No.	Item Description	UOM	Quantity	Unit Price	Item Bid Amount
629.05	Hand Labor, Straight Time	Hour	40.00	50.00	\$2,000.00
631.35	Foreman	Hour	20.00	50.00	\$1,000.00
652.3611	Maintenance of Traffic Control Devices – Beech Ridge Road Underpass Bridge	Lump	1.00	25000.00	\$25,000.00
652.3612	Maintenance of Traffic Control Devices - Mountain Road Underpass Bridge	Lump	1.00	25000.00	\$25,000.00
652.3613	Maintenance of Traffic Control Devices - Berwick Road Underpass Bridge	Lump	1.00	25000.00	\$25,000.00
652.3614	Maintenance of Traffic Control Devices – Fletcher Street Underpass Bridge	Lump	1.00	25000.00	\$25,000.00
652.41	Portable Changeable Message Sign	Each	2.00	500.00	\$1,000.00
659.1	Mobilization	Lump	1.00	134989.00	\$134,989.00
Total Bid	\$2,699,777.00				

Page 7 of 13 Print Date: 10/9/2025



Contract ID: 2026.04 Contract Type: Contract

Bids Received For Contract

Cleaning And Painting Steel Structures -

Beech Ridge Road Underpass Bridge - Mile 4.8 Mountain Road Underpass Bridge - Mile 10.6 Berwick Road Underpass Bridge - Mile 13.8 Fletcher Street Underpass Bridge - Mile 25.3 10/09/2025 1:00:00 PM

Omega Coatings & Construction, LLC Palm Harbor, FL

Item No.	Item Description	UOM	Quantity	Unit Price	Item Bid Amount
506.141	Field Painting of ExistingStructural Steel – Beech Ridge Road Underpass Bridge	Lump	1.00	282000.00	\$282,000.00
506.142	Field Painting of ExistingStructural Steel – Mountain Road Underpass Bridge	Lump	1.00	173000.00	\$173,000.00
506.143	Field Painting of ExistingStructural Steel – Berwick Road Underpass Bridge	Lump	1.00	195000.00	\$195,000.00
506.144	Field Painting of ExistingStructural Steel – Fletcher Street Underpass Bridge	Lump	1.00	392000.00	\$392,000.00
506.171	Surface Preparation of Existing Structural Steel – Beech Ridge Road Underpass Bridge	Lump	1.00	430000.00	\$430,000.00
506.172	Surface Preparation of Existing Structural Steel - Mountain Road Underpass Bridge	Lump	1.00	270000.00	\$270,000.00
506.173	Surface Preparation of Existing Structural Steel - Berwick Road Underpass Bridge	Lump	1.00	300000.00	\$300,000.00
506.174	Surface Preparation of Existing Structural Steel – Fletcher Street Underpass Bridge	Lump	1.00	600000.00	\$600,000.00
506.181	Containment System and Pollution Control Measures – Beech Ridge Road Underpass Bridge	Lump	1.00	75000.00	\$75,000.00
506.182	Containment System and Pollution Control Measures – Mountain Road Underpass Bridge	Lump	1.00	45000.00	\$45,000.00
506.183	Containment System and Pollution Control Measures - Berwick Road Underpass Bridge	Lump	1.00	50000.00	\$50,000.00
506.184	Containment System andPollution Control Measures – Fletcher Street Underpass Bridge	LumpS	1.00	100000.00	\$100,000.00
506.191	Disposal of Special Waste orHazardous Waste – Beech Ridge Road Underpass Bridge	LumpS	1.00	1000.00	\$1,000.00
506.192	Disposal of Special Waste orHazardous Waste - Mountain Road Underpass Bridge	LumpS	1.00	1000.00	\$1,000.00
506.193	Disposal of Special Waste orHazardous Waste - Berwick Road Underpass Bridge	LumpS	1.00	1000.00	\$1,000.00
506.194	Disposal of Special Waste orHazardous Waste – Fletcher Street Underpass Bridge	LumpS	1.00	1000.00	\$1,000.00
526.306	Temporary Concrete Barrier, Type I - Supplied by Authority (500 LF)	LumpS	1.00	50000.00	\$50,000.00
527.342	Work Zone Crash Cushion -TL-2	Unit	8.00	8000.00	\$64,000.00
619.1202	Temporary Mulch	Lump	1.00	5000.00	\$5,000.00
627.73	Temporary 6 Inch Pavement Marking Tape	Linea	4800.00	3.00	\$14,400.00

Page 8 of 13 Print Date: 10/9/2025



Contract ID: 2026.04 Contract Type: Contract

Bids Received For Contract

Cleaning And Painting Steel Structures -

Beech Ridge Road Underpass Bridge - Mile 4.8 Mountain Road Underpass Bridge - Mile 10.6 Berwick Road Underpass Bridge - Mile 13.8 Fletcher Street Underpass Bridge - Mile 25.3 10/09/2025 1:00:00 PM

Item No.	Item Description	UOM	Quantity	Unit Price	Item Bid Amount
629.05	Hand Labor, Straight Time	Hour	40.00	200.00	\$8,000.00
631.35	Foreman	Hour	20.00	400.00	\$8,000.00
652.3611	Maintenance of Traffic Control Devices – Beech Ridge Road Underpass Bridge	Lump	1.00	75000.00	\$75,000.00
652.3612	Maintenance of Traffic Control Devices - Mountain Road Underpass Bridge	Lump	1.00	40000.00	\$40,000.00
652.3613	Maintenance of Traffic Control Devices - Berwick Road Underpass Bridge	Lump	1.00	50000.00	\$50,000.00
652.3614	Maintenance of Traffic Control Devices – Fletcher Street Underpass Bridge	Lump	1.00	100000.00	\$100,000.00
652.41	Portable Changeable Message Sign	Each	2.00	4000.00	\$8,000.00
659.1	Mobilization	Lump	1.00	300000.00	\$300,000.00
Total Bid	\$3,638,400.00				

Page 9 of 13 Print Date: 10/9/2025



Contract ID: 2026.04 Contract Type: Contract

Bids Received For Contract

Cleaning And Painting Steel Structures -

Beech Ridge Road Underpass Bridge - Mile 4.8 Mountain Road Underpass Bridge - Mile 10.6 Berwick Road Underpass Bridge - Mile 13.8 Fletcher Street Underpass Bridge - Mile 25.3 10/09/2025 1:00:00 PM

Amstar of Western NY Inc Cheektowaga, NY

Item No.	Item Description	UOM	Quantity	Unit Price	Item Bid Amount
506.141	Field Painting of ExistingStructural Steel – Beech Ridge Road Underpass Bridge	Lump	1.00	214800.00	\$214,800.00
506.142	Field Painting of ExistingStructural Steel – Mountain Road Underpass Bridge	Lump	1.00	133500.00	\$133,500.00
506.143	Field Painting of ExistingStructural Steel – Berwick Road Underpass Bridge	Lump	1.00	149500.00	\$149,500.00
506.144	Field Painting of ExistingStructural Steel – Fletcher Street Underpass Bridge	Lump	1.00	299500.00	\$299,500.00
506.171	Surface Preparation of Existing Structural Steel – Beech Ridge Road Underpass Bridge	Lump	1.00	644500.00	\$644,500.00
506.172	Surface Preparation of Existing Structural Steel - Mountain Road Underpass Bridge	Lump	1.00	400700.00	\$400,700.00
506.173	Surface Preparation of Existing Structural Steel - Berwick Road Underpass Bridge	Lump	1.00	448600.00	\$448,600.00
506.174	Surface Preparation of Existing Structural Steel – Fletcher Street Underpass Bridge	Lump	1.00	898600.00	\$898,600.00
506.181	Containment System and Pollution Control Measures – Beech Ridge Road Underpass Bridge	Lump	1.00	214800.00	\$214,800.00
506.182	Containment System and Pollution Control Measures – Mountain Road Underpass Bridge	Lump	1.00	133500.00	\$133,500.00
506.183	Containment System and Pollution Control Measures - Berwick Road Underpass Bridge	Lump	1.00	149500.00	\$149,500.00
506.184	Containment System and Pollution Control Measures – Fletcher Street Underpass Bridge	LumpS	1.00	299500.00	\$299,500.00
506.191	Disposal of Special Waste orHazardous Waste – Beech Ridge Road Underpass Bridge	LumpS	1.00	3000.00	\$3,000.00
506.192	Disposal of Special Waste orHazardous Waste - Mountain Road Underpass Bridge	LumpS	1.00	3000.00	\$3,000.00
506.193	Disposal of Special Waste orHazardous Waste - Berwick Road Underpass Bridge	LumpS	1.00	3000.00	\$3,000.00
506.194	Disposal of Special Waste orHazardous Waste – Fletcher Street Underpass Bridge	LumpS	1.00	4000.00	\$4,000.00
526.306	Temporary Concrete Barrier, Type I - Supplied by Authority (500 LF)	LumpS	1.00	20000.00	\$20,000.00
527.342	Work Zone Crash Cushion -TL-2	Unit	8.00	2200.00	\$17,600.00
619.1202	Temporary Mulch	Lump	1.00	8000.00	\$8,000.00
627.73	Temporary 6 Inch Pavement Marking Tape	Linea	4800.00	2.00	\$9,600.00

Page 10 of 13 Print Date: 10/9/2025



Contract ID: 2026.04 Contract Type: Contract

Bids Received For Contract

Cleaning And Painting Steel Structures -

Beech Ridge Road Underpass Bridge - Mile 4.8 Mountain Road Underpass Bridge - Mile 10.6 Berwick Road Underpass Bridge - Mile 13.8 Fletcher Street Underpass Bridge - Mile 25.3 10/09/2025 1:00:00 PM

Item No.	Item Description	UOM	Quantity	Unit Price	Item Bid Amount
629.05	Hand Labor, Straight Time	Hour	40.00	35.00	\$1,400.00
631.35	Foreman	Hour	20.00	40.00	\$800.00
652.3611	Maintenance of Traffic Control Devices – Beech Ridge Road Underpass Bridge	Lump	1.00	8000.00	\$8,000.00
652.3612	Maintenance of Traffic Control Devices - Mountain Road Underpass Bridge	Lump	1.00	8000.00	\$8,000.00
652.3613	Maintenance of Traffic Control Devices - Berwick Road Underpass Bridge	Lump	1.00	8000.00	\$8,000.00
652.3614	Maintenance of Traffic Control Devices – Fletcher Street Underpass Bridge	Lump	1.00	8000.00	\$8,000.00
652.41	Portable Changeable Message Sign	Each	2.00	1500.00	\$3,000.00
659.1	Mobilization	Lump	1.00	106600.00	\$106,600.00
Total Bid					\$4,199,000.00

Page 11 of 13 Print Date: 10/9/2025



Contract ID: 2026.04 Contract Type: Contract

Bids Received For Contract

Cleaning And Painting Steel Structures -

Beech Ridge Road Underpass Bridge - Mile 4.8 Mountain Road Underpass Bridge - Mile 10.6 Berwick Road Underpass Bridge - Mile 13.8 Fletcher Street Underpass Bridge - Mile 25.3 10/09/2025 1:00:00 PM

Monoko, LLC. Tarpon Springs, FL

Item No.	Item Description	UOM	Quantity	Unit Price	Item Bid Amount
506.141	Field Painting of ExistingStructural Steel – Beech Ridge Road Underpass Bridge	Lump	1.00	200000.00	\$200,000.00
506.142	Field Painting of ExistingStructural Steel – Mountain Road Underpass Bridge	Lump	1.00	200000.00	\$200,000.00
506.143	Field Painting of ExistingStructural Steel – Berwick Road Underpass Bridge	Lump	1.00	200000.00	\$200,000.00
506.144	Field Painting of ExistingStructural Steel – Fletcher Street Underpass Bridge	Lump	1.00	200000.00	\$200,000.00
506.171	Surface Preparation of Existing Structural Steel – Beech Ridge Road Underpass Bridge	Lump	1.00	600000.00	\$600,000.00
506.172	Surface Preparation of Existing Structural Steel - Mountain Road Underpass Bridge	Lump	1.00	600000.00	\$600,000.00
506.173	Surface Preparation of Existing Structural Steel - Berwick Road Underpass Bridge	Lump	1.00	600000.00	\$600,000.00
506.174	Surface Preparation of Existing Structural Steel – Fletcher Street Underpass Bridge	Lump	1.00	600000.00	\$600,000.00
506.181	Containment System and Pollution Control Measures – Beech Ridge Road Underpass Bridge	Lump	1.00	200000.00	\$200,000.00
506.182	Containment System and Pollution Control Measures – Mountain Road Underpass Bridge	Lump	1.00	200000.00	\$200,000.00
506.183	Containment System and Pollution Control Measures - Berwick Road Underpass Bridge	Lump	1.00	200000.00	\$200,000.00
506.184	Containment System and Pollution Control Measures – Fletcher Street Underpass Bridge	LumpS	1.00	200000.00	\$200,000.00
506.191	Disposal of Special Waste orHazardous Waste – Beech Ridge Road Underpass Bridge	LumpS	1.00	2500.00	\$2,500.00
506.192	Disposal of Special Waste orHazardous Waste - Mountain Road Underpass Bridge	LumpS	1.00	2500.00	\$2,500.00
506.193	Disposal of Special Waste orHazardous Waste - Berwick Road Underpass Bridge	LumpS	1.00	2500.00	\$2,500.00
506.194	Disposal of Special Waste orHazardous Waste – Fletcher Street Underpass Bridge	LumpS	1.00	2500.00	\$2,500.00
526.306	Temporary Concrete Barrier, Type I - Supplied by Authority (500 LF)	LumpS	1.00	100.00	\$100.00
527.342	Work Zone Crash Cushion -TL-2	Unit	8.00	200.00	\$1,600.00
619.1202	Temporary Mulch	Lump	1.00	5000.00	\$5,000.00
627.73	Temporary 6 Inch Pavement Marking Tape	Linea	4800.00	3.50	\$16,800.00

Page 12 of 13 Print Date: 10/9/2025



Contract ID: 2026.04 Contract Type: Contract

Bids Received For Contract

Cleaning And Painting Steel Structures -

Beech Ridge Road Underpass Bridge - Mile 4.8 Mountain Road Underpass Bridge - Mile 10.6 Berwick Road Underpass Bridge - Mile 13.8 Fletcher Street Underpass Bridge - Mile 25.3 10/09/2025 1:00:00 PM

Item No.	Item Description	UOM	Quantity	Unit Price	Item Bid Amount
629.05	Hand Labor, Straight Time	Hour	40.00	150.00	\$6,000.00
631.35	Foreman	Hour	20.00	200.00	\$4,000.00
652.3611	Maintenance of Traffic Control Devices – Beech Ridge Road Underpass Bridge	Lump	1.00	25000.00	\$25,000.00
652.3612	Maintenance of Traffic Control Devices - Mountain Road Underpass Bridge	Lump	1.00	25000.00	\$25,000.00
652.3613	Maintenance of Traffic Control Devices - Berwick Road Underpass Bridge	Lump	1.00	25000.00	\$25,000.00
652.3614	Maintenance of Traffic Control Devices – Fletcher Street Underpass Bridge	Lump	1.00	25000.00	\$25,000.00
652.41	Portable Changeable Message Sign	Each	2.00	500.00	\$1,000.00
659.1	Mobilization	Lump	1.00	200000.00	\$200,000.00
Total Bid					\$4.344.500.00

Total Bid

Page 13 of 13 Print Date: 10/9/2025